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Class - 3

* call
,
bind & apply

& prototypical inheritance
-

-

-protapes- function al is
-

-

let obj= abc ( 13
do something13 1-
abitS

↳ abois implicity
binded !
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↳is
a function , datastrtue .

method ;

*
call is a method of function
abc

.

call (obj) ;
*

① It will
attach abs inside obj

,

② It will execute abl ! Oj aball ;

③ delete abs from obj
:

.. - -
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function abs(palami , palanz)3
-

-

-

-

S
- -

-argy, arge),
-
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function Abs (paranl , Garanz)}

3
-)1 , 2 , 3, 7

,
5) ;
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· function a bc (paranl , param2) E Let obj=3}
-

3

- I do something L
-

.

abc(argy , argz) ;
* abl() ;

* Iabi,argi ,
arges. be

.

Catabil;
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function
test (paral , paranz , parans) ? letobjs
- I-
-

3
- argi argi , argsgl,args , argi) -> test call (obj; ,arglauglaral
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function test (paranl , paranz , paran 3) 3 let obj=

⑦

S

II doing something . I S
...
3 :

-
-
-

let args=[10 , 20 , 100] ;
.........

5 test
.

Call (obj , args(o], args( ,
args[2]) ;

----

↳ test . call (obj , ... args) ;

& testl . apply (obj , args);
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A function Name .

Call (Object Context, argl , arge, ....);
-

Call can accept multiple args
r

first is obj , rest
are arguments of function
-

* function. Name . apply (object Context , array of
argements);

apply con accept only 2 arguments

D obj
2) array of arguments for function
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↓ call & apply have I issue ??

- function I ,
objD L momentosly

fl . call (objD)-
* I will

make new In out fl ,

that isdefiof fo & contextt
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↳ cast 12 = fl . bind (obj);

↓
It is a function that is having defi of

fo & value of this key word inside +C

will be objs
-
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* function fl (paron' passn2, paran3)3-

·

A let obj= 2 3;
--

3 (f) argl , arg2 , args)
-

2 = fl . bid(obj)
---

*

①* IR (argl , arg2 ,
args);

https://goodnotes.com/


function Is /paran , paranz , params) ) let obj=33 ;
-

3
- I--
----

const f2 = fl . bird (obj , arg1) ;
-

· 82 (paranz , params) 3
paramI= argy ;

3
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function fl (p1 , p2 , p3)E let obj = 3 3 ;
- ---

*
S-

-

x fz = fl . bind lobj ,
argi , arge) ;

-
-

D f2(100, 200) ;

https://goodnotes.com/

